

CIOD Pressure DR-18 & DR-25 Fittings

Canadian Price List | GP-CIODFIT-PLV2

Effective Date: January 2, 2018 Replaces Date: January 3, 2017



Table of Contents

CIOD Pressure DR-18 & DR-25 Fittings

Canadian Price List | GP-CIODFIT-PLV2

	Fitttings:
Tees	4
Cross	5
5° Angl	eld Bell5
	11.25° to 45°)9
	90°)6
	Sweeps6
_	gs6
	ers6 - 7
	ouplings and Spigot Plugs8
-	plings9
	Adapters10
_	10
Gaskeis	11
DD 05 I	F!!
	Fitttings:
	12
	13
	eld Bell13
	11.25° to 45°)13
Bends (90°)14
5° Long	Sweeps14
Increase	ers GxG14
Increase	er GXS15
	Adapter15
	ouplings and Spigot Plugs16
	earlings and all great regerments
_	
Legend	
G	Gasketed Bell Joint
Н	Rib Hub Joint
S	Spigot End
PE	Plain End
C/W	Comes With
*	Denotes Injection Moulded
FIPT	Female Iron Pipe Thread
MIPT	Male Iron Pipe Thread
I VIII I	maio iron ripo riirodu

	Product Code	Dimensions (in)	Dimensions (mm)	Package (per)	List Price
	912 0404*	4	100	6 per CTN	\$603.00
TEE	912 0604*	6 X 4	150 X 100	4 per CTN	\$879.00
(G x G x G)	912 0606*	6	150	4 per CTN	\$852.00
	912 0804*	8 X 4	200 X 100	2 per CTN	\$1,206.00
	912 0806*	8 X 6	200 X 150	2 per CTN	\$1,309.00
	912 0808*	8	200	2 per CTN	\$1,482.00
	912 1004	10 X 4	250 X 100	-	\$1,839.00
	912 1006	10 X 6	250 X 150	-	\$2,918.00
	912 1008	10 X 8	250 X 200	-	\$3,464.00
Y	912 1010	10	250	-	\$4,638.00
One State of the S	912 1204	12 X 4	300 X 100	-	\$3,408.00
	912 1206	12 X 6	300 X 150	-	\$3,784.00
	912 1208	12 X 8	300 X 200	-	\$4,344.00
	912 1210	12 X 10	300 X 250	-	\$4,828.00
	912 1212	12	300	-	\$5,597.00
	912 1404	14 X 4	350 X 100	-	\$5,878.00
	912 1406	14 X 6	350 X 150	-	\$5,927.00
	912 1408	14 X 8	350 X 200	-	\$6,471.00
	912 1410	14 X 10	350 X 250	-	\$7,027.00
	912 1412	14 X 12	350 X 300	-	\$8,132.00
	912 1414	14	350	-	\$8,175.00
	912 1604	16 X 4	400 X 100	-	\$7,098.00
	912 1606	16 X 6	400 X 150	-	\$7,338.00
	912 1608	16 X 8	400 X 200	-	\$8,536.00
	912 1610	16 X 10	400 X 250	-	\$9,379.00
	912 1612	16 X 12	400 X 300	-	\$10,320.00
	912 1614	16 X 14	400 X 350	-	\$11,193.00
	912 1616	16	400	-	\$12,214.00
	912 1804	18 X 4	450 X 100	-	\$8,672.00
	912 1806	18 X 6	450 X 150	-	\$8,803.00
	912 1808	18 X 8	450 X 200	-	\$10,240.00
	912 1810	18 X 10	450 X 250	-	\$11,253.00
	912 1812	18 X 12	450 X 300	-	\$12,177.00
	912 1814	18 X 14	450 X 350	-	\$13,206.00
	912 1816	18 X 16	450 X 400	-	\$14,167.00
	912 1818	18	450	•	\$14,655.00
	912 2004	20 X 4	500 X 100	-	\$10,840.00
	912 2006	20 X 6	500 X 150	•	\$11,006.00
	912 2008	20 X 8	500 X 200	-	\$12,800.00
	912 2010	20 X 10	500 X 250	-	\$14,065.00
	912 2012	20 X 12	500 X 300	-	\$15,222.00
	912 2014	20 X 14	500 X 350	-	\$16,507.00
	912 2016	20 X 16	500 X 400	-	\$17,708.00
	912 2018	20 X 18	500 X 450	-	\$19,123.00
	912 2020	20	500	-	\$19,784.00
	912 2404	24 X 4	600 X 100	-	\$13,550.00
	912 2406	24 X 6	600 X 150	-	\$13,757.00
	912 2408	24 X 8	600 X 200	-	\$16,000.00
	912 2410	24 X 10	600 X 250	-	\$19,027.00
	912 2412	24 X 12	600 X 300	-	\$19,027.00
	912 2414	24 X 14	600 X 350	-	\$20,634.00
	912 2416	24 X 16	600 X 400	-	\$22,136.00
	912 2418	24 X 18	600 X 450	-	\$23,904.00
	912 2420	24 X 20	600 X 500	-	\$26,486.00
	912 2424	24	600	-	\$26,708.00
	Pricing for Larger Diamet	er's available upon request.			P.O.R.

CIOD Pressure Rated 235psi DR-18 Fittings **Product Dimensions** List **Dimensions Package** Code **Price** (in) (mm) (per) 913 0404 4 100 \$1.641.00 **CROSS** 150 913 0606 6 \$1,740.00 $(G \times G \times G \times G)$ \$2,504.00 913 0808 8 200 913 1010 10 250 \$5,797.00 913 1212 12 300 \$6,997.00 14 350 \$10,219,00 913 1414 913 1616 16 400 \$15,269.00 913 1818 18 450 \$18,319.00 913 2020 20 500 \$24,729.00 913 2424 24 600 \$33,386.00 Pricing for Larger Diameter's available upon request. P.O.R. 915 0504 4 100 \$363.00 5° ANGLED BELL 915 0506 6 150 \$454.00 $(G \times S)$ 915 0508 8 200 \$600.00 915 0510 10 250 \$870.00 300 915 0512 12 \$1,253,00 915 0514 14 350 \$1,602.00 915 0516 400 \$2,204.00 16 450 915 0518 18 \$2,794.00 915 0520 20 500 \$3,772.00 915 0524 24 600 \$5,092.00 Pricing for Larger Diameter's available upon request. P.O.R. 916 1104* 4 100 6 per CTN \$551.00 11¼° BEND 916 1106* 6 150 4 per CTN \$551.00 (G x G) 916 1108* 8 200 2 per CTN \$804.00 10 250 \$2,247.00 916 1110 916 1112 12 300 \$3,005.00 916 1114 14 350 \$3,886.00 916 1116 16 400 \$4,881.00 916 1118 18 450 \$6,250.00 916 1120 20 500 \$7,812.00 24 600 916 1124 \$9.765.00 Pricing for Larger Diameter's available upon request. P.O.R. 916 2204* 4 100 6 per CTN \$551.00 221/2° BEND 916 2206* 6 150 4 per CTN \$551.00 $(G \times G)$ 916 2208* 8 200 2 per CTN \$804.00 916 2210 10 250 \$2,247.00 916 2212 12 300 \$3,005.00 350 916 2214 14 \$3,886.00 400 916 2216 16 \$4,881.00 450 916 2218 18 \$6,250.00 916 2220 20 500 \$7,812.00 916 2224 24 600 \$9,765.00 Pricing for Larger Diameter's available upon request. P.O.R. 916 4504* 100 6 per CTN \$387.00 4 45° BEND 916 4506* 6 150 4 per CTN \$551.00 $(G \times G)$ 916 4508* 8 200 2 per CTN \$804.00 916 4510 10 250 \$2,247.00 916 4512 12 300 \$3.005.00 916 4514 14 350 \$3,886.00 916 4516 400 \$4.881.00 16 450 916 4518 18 \$6,250.00

500

600

20

24

916 4520

916 4524

Pricing for Larger Diameter's available upon request.

\$8,046.00

\$10,058.00

P.O.R.

	Product Code	Dimensions (in)	Dimensions (mm)	Package (per)	List Price
	916 9004*	4	100	6 per CTN	\$387.00
D° BEND	916 9006*	6	150	4 per CTN	\$626.00
x G)	916 9008*	8	200	2 per CTN	\$973.00
	916 9010	10	250	-	\$2,888.00
	916 9012	12	300	-	\$4,155.00
	916 9014	14	350	-	\$5,737.00
	916 9016	16	400	-	\$8,017.00
	916 9018	18	450	-	\$9,619.00
	916 9020	20	500	-	\$12,024.00
	916 9024	24	600	•	\$15,029.00
	Pricing for Larger Diameter	's available upon request.			P.O.R.
O LONG CWEED	921 0504	4	100	-	\$593.00
S° LONG SWEEP	921 0506	6	150	-	\$701.00
BEND (G x S)	921 0508	8	200	-	\$1,011.00
	921 0510	10	250	-	\$1,395.00
	921 0512	12	300	-	\$2,904.00
	921 0514	14	350	-	\$3,265.00
	921 0516	16	400	-	\$4,555.00
	921 0518	18	450	-	\$7,620.00
	921 0520	20 24	500	<u>-</u>	\$9,525.00
	921 0524	= -	600	-	\$11,906.00
	Pricing for Larger Diameter	's available upon request.			P.O.R.
AAOUINED DEDAID	928 04*	4	100	-	\$172.00
MACHINED REPAIR COUPLING	928 06*	6	150	-	\$226.00
	928 08*	8	200	-	\$545.00
	928 10*	10	250	-	\$1,127.00
	928 12*	12	300	·	\$1,336.00
	Pricing for Larger Diameter	's available upon request.			P.O.R.
	929 04*	4	100	-	\$156.00
MACHINED STOP	929 06*	6	150	-	\$196.00
COUPLING	929 08*	8	200	-	\$470.00
	929 10*	10	250	_ -	\$1,181.00
	929 12*	12	300	-	\$1,342.00
	Pricing for Larger Diameter	's available upon request.			P.O.R.
					4
NCREASER	932 0406*	4 X 6	100 X 150	-	\$445.00
G x G)	932 0408	4 X 8	100 X 200	-	\$1,729.00
-	932 0410	4 X 10	100 X 250	-	\$1,868.00
-	932 0412	4 X 12	100 X 300	-	\$2,124.00
	932 0414	4 X 14	100 X 350	-	\$2,369.00
	932 0416	4 X 16	100 X 400	-	\$2,915.00 \$7,742.00
	022 0410			-	> / /4/ U()
	932 0418	4 X 18	100 X 450		
	932 0608*	6 X 8	150 X 200	-	\$875.00

	Product Code	Dimensions (in)	Dimensions (mm)	Package (per)	List Price
NODEACED	932 0616	6 X 16	150 X 400	-	\$2,942.00
NCREASER	932 0618	6 X 18	150 X 450	-	\$8,206.00
G x G) Continued	932 0810	8 X 10	200 X 250	-	\$1,150.00
	932 0812	8 X 12	200 X 300	-	\$1,247.00
	932 0814	8 X 14	200 X 350	-	\$2,978.00
	932 0816	8 X 16	200 X 400	-	\$3,464.00
	932 0818	8 X 18	200 X 450	-	\$9,232.00
	932 1012	10 X 12	250 X 300	-	\$1,327.00
	932 1014	10 X 14	250 X 350	-	\$2,794.00
	932 1016	10 X 16	250 X 400	-	\$3,169.00
	932 1018	10 X 18	250 X 450	-	\$10,115.00
	932 1214	12 X 14	300 X 350	-	\$2,857.00
	932 1216	12 X 16	300 X 400	-	\$4,240.00
	932 1218	12 X 18	300 X 450	_	\$11,612.00
	932 1220	12 X 20	300 X 500		\$13,354.00
	932 1416	14 X 16	350 X 400	<u>.</u>	\$4,462.00
	932 1418	14 X 18	350 X 450	-	\$11,903.00
	932 1420	14 X 20	350 X 500	•	\$11,903.00
	932 1618	16 X 18	400 X 450	•	\$13,088.00
				-	
	932 1620	16 X 20	400 X 500	-	\$14,030.00
	932 1624	16 X 24	400 X 600	-	\$16,135.00
	932 1820	18 X 20	450 X 500	•	\$18,555.00
	932 1824	18 X 24	450 X 600	-	\$21,338.00
	932 2024	20 X 24	500 X 600	-	\$24,539.00
	Pricing for Larger Diamete	er's available upon request.			P.O.R.
NCREASER	930 0604*	4 X 6	100 X 150	6 per CTN	\$473.00
G x S)	931 0408	4 X 8	100 X 200	-	\$1,388.00
G X 3)	931 0410	4 X 10	100 X 250	-	\$1,681.00
	931 0412	4 X 12	100 X 300	-	\$1,912.00
	931 0414	4 X 14	100 X 350	-	\$2,131.00
	931 0416	4 X 16	100 X 400	-	\$2,624.00
	931 0418	4 X 18	100 X 450	-	\$6,969.00
	930 0806*	6 X 8	150 X 200	4 per CTN	\$764.00
	931 0610	6 X 10	150 X 250	-	\$1,770.00
	931 0612	6 X 12	150 X 300	-	\$2,019.00
	931 0614	6 X 14	150 X 350	-	\$2,411.00
	931 0616	6 X 16	150 X 400	-	\$2,647.00
	931 0618	6 X 18	150 X 450	-	\$7,386.00
	931 0810	8 X 10	200 X 250	_	\$940.00
	931 0812	8 X 12	200 X 300	-	\$1,239.00
	931 0814	8 X 14	200 X 350	-	\$2,457.00
	931 0816	8 X 16	200 X 400	-	\$2,680.00
	931 0818	8 X 18	200 X 450	-	\$8,309.00
	931 1012	10 X 12	250 X 300	-	\$1,175.00
	931 1012	10 X 12	250 X 350		\$2,514.00
	931 1014	10 X 14	250 X 400	-	\$2,778.00
	931 1018	10 X 18	250 X 450	<u> </u>	\$9,104.00
	931 1214	10 X 18	300 X 350	-	\$2,572.00
	931 1214	12 X 14 12 X 16	300 X 300 300 X 400	•	\$2,884.00
				-	
	931 1218 931 1220	12 X 18 12 X 20	300 X 450 300 X 500	•	\$10,452.00 \$12,020.00
				-	
	931 1416	14 X 16	350 X 400	-	\$4,017.00
	931 1418	14 X 18	350 X 450	•	\$10,712.00
	931 1420	14 X 20	350 X 500	-	\$12,320.00
	931 1618	16 X 18	400 X 450	-	\$11,247.00
	931 1620	16 X 20	400 X 500	-	\$12,936.00
	931 1624	16 X 24	400 X 600	-	\$14,875.00
	931 1820	18 X 20	450 X 500	-	\$17,107.00
	001 1004	18 X 24	450 X 600	-	\$19,673.00
	931 1824 931 2024	20 X 24	500 X 600	-	\$22,624.00

	Product Code	Dimensions (in)	Dimensions (mm)	Package (per)	List Price
GASKETED CAP	935 04*	4	100	12 per CTN	\$191.00
or Use with poured	935 06*	6	150	6 per CTN	\$317.00
oncrete thrust blocks	935 08*	8	200	4 per CTN	\$441.00
onordic un ast blocks	935 10	10	250	-	\$2,460.00
	935 12	12	300	-	\$3,350.00
	935 14	14	350	-	\$4,030.00
	935 16	16	400	-	\$4,914.00
	935 18	18	450	-	\$5,808.00
	935 20	20	500	-	\$7,260.00
	935 24	24	600	-	\$9,075.00
Pr	ricing for Larger Diamete	r's available upon request.			P.O.R.
	936 04*	4	100	12 per CTN	\$323.00
STOP COUPLING	936 04	6	150	6 per CTN	\$438.00
	936 08*	8	200	2 per CTN	\$755.00
	936 10	10	250	Z pci CTN	\$1,717.00
	936 12	12	300	-	\$2,034.00
	936 14	14	350	-	\$2,980.00
	936 16	16	400	-	\$4,555.00
	936 18	18	450	-	\$5,595.00
	936 20	20	500	-	\$6,994.00
	936 24	24	600	-	\$8,743.00
D		r's available upon request.	000	-	P.O.R.
	937 04*	4	100	12 per CTN	\$323.00
REPAIR COUPLING	937 06*	6	150	6 per CTN	\$438.00
	937 08*	8	200	2 per CTN	\$797.00
	937 10	10	250	2 pci 0114	\$1,717.00
	937 12	12	300	_	\$2,034.00
	937 14	14	350	_	\$2,693.00
	937 16	16	400	-	\$4,004.00
	937 18	18	450	-	\$5,034.00
	937 20	20	500	-	\$6,292.00
	937 24	24	600	-	\$7,865.00
Pr		r's available upon request.			P.O.R.
	000.5		100	10	A
PIGOT PLUG	939 04*	4	100	12 per CTN	\$105.00
	939 06*	6	150	6 per CTN	\$171.00
	939 08*	8	200	4 per CTN	\$267.00
	939 10*	10	250	-	\$426.00
	939 12*	12	300	-	\$669.00
	939 14	14	350	-	\$2,359.00
	939 16	16	400	-	\$3,306.00
	939 18	18	450	-	\$4,476.00
	939 20	20	500	-	\$5,595.00
	939 24	24	600	-	\$6,994.00
		r's available upon request.			P.O.R.

	Product Code	Dimensions (in)	Dimensions (mm)	Package (per)	List Price
T x C900	939T04-3.4IP*	4 X ¾	100 X 20	-	\$375.00
AP PLUG	939T04-1IP*	4 X 1	100 X 25	-	\$375.00
ii i Lou	939T04-1.5IP*	4 X 1½	100 X 38	-	\$375.00
	939T04-2IP*	4 X 2	100 X 50		\$375.00
	939T06-3.4IP*	6 X ¾	150 X 20		\$494.00
	939T06-1IP*	6 X 1	150 X 25		\$494.00
	939T06-1.5IP*	6 X 1½	150 X 38	-	\$494.00
	939T06-2IP*	6 X 2	150 X 50	-	\$494.00
	939T08-3.4IP*	8 X ¾	200 X 20		\$663.00
	939T08-1IP*	8 X 1	200 X 25		\$663.00
	939T08-1.5IP*	8 X 1½	200 X 38	-	\$663.00
	939T08-2IP*	8 X 2	200 X 50		\$663.00
	Pricing for Larger Diameter				P.O.R.
	<u> </u>				
	940 04-3.4IP*	4 X ¾	100 X 20	-	\$319.00
Т х С900	940 04-1IP*	4 X 1	100 X 25		\$319.00
P COUPLING	940 04-1.5IP*	4 X 1½	100 X 38	-	\$564.00
	940 04-2IP*	4 X 2	100 X 50		\$564.00
	940 06-3.4IP*	6 X ¾	150 X 20	-	\$388.00
	940 06-1IP*	6 X 1	150 X 25	-	\$388.00
	940 06-1.5IP*	6 X 1½	150 X 38		\$608.00
	940 06-2IP*	6 X 2	150 X 50	_	\$608.00
	940 08-3.4IP*	8 X ¾	200 X 20		\$578.00
	940 08-1IP*	8 X 1	200 X 25		\$578.00
	940 08-1.5IP*	8 X 1½	200 X 38	_	\$776.00
	940 08-2IP*	8 X 2	200 X 50		\$776.00
	Pricing for Larger Diameter		200 X 30		P.O.R.
MMA 0000	940 04-3.4CC*	4 X ¾	100 X 20	-	\$342.00
WWA x C900	940 04-1CC*	4 X 1	100 X 25	-	\$342.00
P COUPLING	940 04-1.5CC*	4 X 1½	100 X 38	-	\$607.00
	940 04-2CC*	4 X 2	100 X 50	-	\$607.00
	940 06-3.4CC*	6 X ¾	150 X 20	-	\$418.00
	940 06-1CC*	6 X 1	150 X 25	-	\$418.00
	940 06-1.5CC*	6 X 1½	150 X 38	-	\$650.00
	940 06-2CC*	6 X 2	150 X 50	-	\$650.00
	940 08-3.4CC*	8 X ¾	200 X 20	-	\$621.00
المسال	940 08-1CC*	8 X 1	200 X 25	-	\$621.00
	940 08-1.5CC*	8 X 1½	200 X 38	-	\$912.00
	940 08-2CC*	8 X 2	200 X 50		\$912.00
	940 10-3.4CC	10 X ³ / ₄	250 X 20	-	\$1,717.00
	940 10-1CC	10 X 1	250 X 25		\$1,717.00
	940 10-1.5CC	10 X 1½	250 X 38	-	\$1,717.00
	940 10-2CC	10 X 2	250 X 50	-	\$1,717.00
	940 12-3.4CC	12 X ¾	300 X 20	<u>-</u>	\$2,034.00
	940 12-1CC	12 X 1	300 X 25	_	\$2,034.00
	940 12-1.5CC	12 X 1½	300 X 23	<u>-</u>	\$2,034.00
	240 17-1'200	14 // 1/2		•	
	940 12-2CC	12 X 2	300 X 50		\$2,034.00

CIOD Pressure Rated 235psi DR-18 Fittings Product Dimensions Dimensions Package List **Price** Code (in) (mm) (per) 941 0404 4 100 \$260.00 C900 SPIGOT x 941 0606 6 150 \$295.00 **SEWER GASKET** 941 0808 8 200 \$417.00 941 1010 10 250 \$619.00 941 1212 12 300 \$969.00 Pricing for 30" (750mm) & 36" (900mm) available upon request. P.O.R. 942 0404 100 \$319.00 C900 GASKET x 6 150 \$395.00 942 0606 **SEWER GASKET** 942 0808 200 \$493.00 8 942 1010 10 250 \$990.00 942 1212 12 300 \$1,173.00 Pricing for 30" (750mm) & 36" (900mm) available upon request. P.O.R. C900 GASKET x 944G0404 4 100 \$640.00 **FLANGE ADAPTER** 944G0606 6 150 \$1,169.00 150psi Maximum 944G0808 8 200 \$1,291.00 unless otherwise 944G1010 10 250 \$5,141.00 stated. \$6,425.00 944G1212 12 300 944G1414 14 350 \$6,646.00 944G1616 16 400 \$9,088.00 944G1818 18 450 \$14,051.00 \$17,563.00 944G2020 20 500 944G2424 \$21,955.00 24 600 Pricing for 30" (750mm) & 36" (900mm) available upon request. P.O.R.

	Product Code	Dimensions (in)	Dimensions (mm)	Package (per)	List Price
	009104*	4	100	-	\$85.00
C900 X IPS	009106*	6	150	-	\$94.00
TRANSITION GASKET Injection Moulded	009108*	8	200	-	\$134.00
Only)					
	009N04*	4	100	-	\$43.00
900 NITRILE	009N06*	6	150	-	\$48.00
GASKET Injection Moulded	009N08*	8	200	-	\$80.00
Only)					

	Product Code	Dimensions (in)	Dimensions (mm)	Package (per)	List Price			
	912 1404-25	14 X 4	100	-	\$4,898.00			
TEE	912 1406-25	14 X 6	150 X 100	-	\$4,938.00			
'G x G x G)	912 1408-25	14 X 8	150	-	\$5,392.00			
	912 1410-25	14 X 10	200 X 100	-	\$5,855.00			
	912 1412-25	14 X 12	200 X 150	-	\$6,776.00			
	912 1414-25	14	200	-	\$6,812.00			
	912 1604-25	16 X 4	250 X 100	-	\$5,914.00			
	912 1606-25	16 X 6	250 X 150	-	\$6,114.00			
	912 1608-25	16 X 8	250 X 200	-	\$7,113.00			
\/	912 1610-25	16 X 10	250	-	\$7,815.00			
nim-es	912 1612-25	16 X 12	300 X 100	-	\$8,599.00			
	912 1614-25	16 X 14	300 X 150	-	\$9,327.00			
	912 1616-25	16	300 X 200	-	\$10,177.00			
Man-40	912 1804-25	18 X 4	300 X 250	-	\$7,226.00			
	912 1806-25	18 X 6	300	-	\$7,335.00			
	912 1808-25	18 X 8	350 X 100	-	\$8,532.00			
	912 1810-25	18 X 10	350 X 150	-	\$9,377.00			
	912 1812-25	18 X 12	350 X 200	-	\$10,147.00			
	912 1814-25	18 X 14	350 X 250	-	\$11,004.00			
	912 1816-25	18 X 16	350 X 300	-	\$11,805.00			
	912 1818-25	18	350	-	\$12,212.00			
	912 2004-25	20 X 4	400 X 100	_	\$9,032.00			
	912 2006-25	20 X 6	400 X 150	-	\$9,171.00			
	912 2008-25	20 X 8	400 X 200	_	\$10,666.00			
	912 2010-25	20 X 10	400 X 250		\$11,720.00			
	912 2012-25	20 X 12	400 X 300	-	\$12,684.00			
	912 2014-25	20 X 14	400 X 350	-	\$13,755.00			
	912 2016-25	20 X 16	400	-	\$14,756.00			
	912 2018-25	20 X 18	450 X 100	-	\$15,935.00			
	912 2020-25	20	450 X 150	-	\$16,486.00			
	912 2404-25	24 X 4	450 X 200	-	\$11,291.00			
	912 2406-25	24 X 6	450 X 250	-	\$11,463.00			
	912 2408-25	24 X 8	450 X 300	-	\$13,332.00			
	912 2410-25	24 X 10	450 X 350	-	\$15,855.00			
	912 2412-25	24 X 12	450 X 400	-	\$15,855.00			
	912 2414-25	24 X 14	450	-	\$17,194.00			
	912 2416-25	24 X 16	500 X 100	-	\$18,445.00			
	912 2418-25	24 X 18	500 X 150	-	\$19,919.00			
	912 2420-25	24 X 20	500 X 200	-	\$22,070.00			
	912 2424-25	24	500 X 250	-	\$22,255.00			
	Pricing for Larger Diameter	r's available upon request.			P.O.R.			
		oupon loquooti						

	Product Code	Dimensions (in)	Dimensions (mm)	Package (per)	List Price
	913 1414-25	14	350	-	\$8,515.00
CROSS	913 1616-25	16	400	-	\$12,723.00
$G \times G \times G \times G$	913 1818-25	18	450	-	\$15,265.00
	913 2020-25	20	500	-	\$20,606.00
	913 2424-25	24	600	-	\$27,820.00
	Pricing for Larger Diameter'	s available upon request.			P.O.R.
S° ANGLED BELL	915 0514-25	14	350	-	\$1,334.00
G x S)	915 0516-25	16	400		\$1,836.00
J A 3/	915 0518-25	18	450	-	\$2,328.00
	915 0520-25	20	500	-	\$3,143.00
	915 0524-25	24	600	-	\$4,243.00
	Pricing for Larger Diameter	's available upon request.			P.O.R.
	916 1114-25	14	350	-	\$3,238.00
11¼° BEND	916 1116-25	16	400	-	\$4,067.00
'G x G)	916 1118-25	18	450	-	\$5,208.00
	916 1120-25	20	500	-	\$6,509.00
	916 1124-25	24	600	<u>-</u>	\$8,137.00
	Pricing for Larger Diameter	s available upon request.			P.O.R.
22½° BEND	916 2214-25	14	350	-	\$3,238.00
	916 2216-25	16	400	-	\$4,067.00
G x G)	916 2218-25	18	450	-	\$5,208.00
	916 2220-25	20	500	-	\$6,509.00
	916 2224-25	24	600	-	\$8,137.00
	Pricing for Larger Diameter	s available upon request.			P.O.R.
	916 4514-25	14	350	-	\$3,238.00
15° BEND	916 4516-25	16	400		\$4,067.00
G x G)	916 4518-25	18	450	- -	\$5,208.00
•	916 4518-25	20	500	-	\$6,704.00
An		24	600		
	916 4524-25	Ζ4	600	-	\$8,381.00

CIOD Pressure Rated 165psi DR-25 Fittings Product Dimensions List **Dimensions Package** Code **Price** (in) (mm) (per) \$4.780.00 916 9014-25 14 350 90° BEND 400 916 9016-25 16 \$6,680.00 $(G \times G)$ 916 9018-25 450 \$8,015.00 18 916 9020-25 20 500 \$10,019.00 916 9024-25 24 600 \$12,523.00 Pricing for Larger Diameter's available upon request. P.O.R. 921 0514-25 14 350 \$2,720.00 5° LONG SWEEP 921 0516-25 400 16 \$3,795.00 **BEND** $(G \times S)$ 921 0518-25 450 18 \$6,349.00 921 0520-25 20 500 \$7,937.00 921 0524-25 24 600 \$9,921.00 Pricing for Larger Diameter's available upon request. P.O.R. 932 0414-25 4 X 14 100 X 350 \$1,974.00 **INCREASER** 932 0416-25 4 X 16 100 X 400 \$2,429.00 (G x G) 932 0418-25 4 X 18 100 X 450 \$6,451.00 932 0614-25 6 X 14 150 X 350 \$2,233.00 150 X 400 932 0616-25 6 X 16 \$2,451.00 932 0618-25 6 X 18 150 X 450 \$6,838.00 932 0814-25 8 X 14 200 X 350 \$2,481.00 932 0816-25 8 X 16 200 X 400 \$2,886.00 932 0818-25 8 X 18 200 X 450 \$7,693.00 932 1014-25 10 X 14 250 X 350 \$2,328.00 932 1016-25 10 X 16 250 X 400 \$2.640.00 932 1018-25 10 X 18 250 X 450 \$8,428.00 932 1214-25 12 X 14 300 X 350 \$2,380.00 932 1216-25 12 X 16 300 X 400 \$3,533.00 932 1218-25 12 X 18 300 X 450 \$9,676.00 932 1220-25 12 X 20 300 X 500 \$11,127.00 932 1416-25 14 X 16 350 X 400 \$3,718.00 932 1418-25 14 X 18 350 X 450 \$9,918.00 932 1420-25 14 X 20 350 X 500 \$11,406.00 932 1618-25 16 X 18 400 X 450 \$10,167.00 16 X 20 932 1620-25 400 X 500 \$11,691.00 932 1624-25 16 X 24 400 X 600 \$13,445.00 932 1820-25 18 X 20 450 X 500 \$15,461.00 \$17,780.00 18 X 24 450 X 600 932 1824-25 932 2024-25 20 X 24 500 X 600 \$20,448.00

Pricing for Larger Diameter's available upon request.

P.O.R.

	Product Code	Dimensions (in)	Dimensions (mm)	Package (per)	List Price
INIODEAGED	931 0414-25	4 X 14	100 X 350	-	\$1,775.00
INCREASER	931 0416-25	4 X 16	100 X 400	-	\$2,186.00
(G x S)	931 0418-25	4 X 18	100 X 450	-	\$5,807.00
	931 0614-25	6 X 14	150 X 350	-	\$2,009.00
	931 0616-25	6 X 16	150 X 400	-	\$2,205.00
	931 0618-25	6 X 18	150 X 450	-	\$6,154.00
	931 0814-25	8 X 14	200 X 350	-	\$2,047.00
	931 0816-25	8 X 16	200 X 400	-	\$2,233.00
	931 0818-25	8 X 18	200 X 450	-	\$6,923.00
	931 1014-25	10 X 14	250 X 350	-	\$2,094.00
	931 1016-25	10 X 16	250 X 400	-	\$2,314.00
	931 1018-25	10 X 18	250 X 450	-	\$7,586.00
	931 1214-25	12 X 14	300 X 350	-	\$2,143.00
	931 1216-25	12 X 16	300 X 400	-	\$2,403.00
	931 1218-25	12 X 18	300 X 450	-	\$8,709.00
	931 1220-25	12 X 20	300 X 500	-	\$10,016.00
	931 1416-25	14 X 16	350 X 400	- -	\$3,347.00
	931 1418-25	14 X 18	350 X 450	-	\$8,926.00
	931 1420-25	14 X 20	350 X 500	- -	\$10,266.00
	931 1420-25	16 X 18	400 X 450	-	\$9,372.00
	931 1620-25	16 X 20	400 X 450 400 X 500		\$10,779.00
	931 1620-25			-	
		16 X 24	400 X 600	-	\$12,395.00
	931 1820-25	18 X 20	450 X 500	-	\$14,255.00
	931 1824-25	18 X 24	450 X 600	-	\$16,393.00
	931 2024-25	20 X 24	500 X 600	-	\$18,852.00
	Pricing for Larger Diameter	's available upon request			P.O.R.
	Fricing for Larger Diameter	s available upon request.			P.U.R.
	0440141405	1.4	250		¢5 530 00
C900 GASKET x	944G1414-25	14	350	-	\$5,538.00
FLANGE ADAPTER	944G1616-25	16	400	•	\$7,573.00
150psi Maximum	944G1818-25	18	450	-	\$11,708.00
unless otherwise	944G2020-25	20	500	-	\$14,635.00
stated.	944G2424-25	24	600	-	\$18,295.00
X					
	D (26# (000) " '' ' '			505
	Pricing for 30" (750mm) &	36" (900mm) available upo	n request.		P.O.R.

	Product Code	Dimensions (in)	Dimensions (mm)	Package (per)	List Price
GASKETED CAP	935 14-25	14	350	-	\$3,358.00
For Use with poured	935 16-25	16	400	-	\$4,094.00
concrete thrust blocks	935 18-25	18	450	-	\$4,839.00
concrete thrust blocks	935 20-25	20	500	-	\$6,049.00
	935 24-25	24	600	•	\$7,562.00
Pri	cing for Larger Diamet	er's available upon request.			P.O.R.
OTOD COURT INC	936 14-25	14	350	-	\$2,483.00
STOP COUPLING	936 16-25	16	400	<u>.</u>	\$3,795.00
	936 18-25	18	450	-	\$4,662.00
	936 20-25	20	500	_	\$5,828.00
	936 24-25	24	600		\$7,285.00
Pri	cing for Larger Diamet	er's available upon request.			P.O.R.
REPAIR COUPLING	937 14-25	14	350	-	\$2,244.00
	937 16-25	16	400	-	\$3,336.00
	937 18-25	18	450	-	\$4,194.00
	937 20-25	20	500	-	\$5,243.00
	937 24-25	24	600	•	\$6,553.00
Pri	cing for Larger Diamet	er's available upon request.			P.O.R.
, FI	cing for Larger Diamet	er's available upon request.			r.u.k.
SPIGOT PLUG	939 14-25	14	350	-	\$1,965.00
or ido i i Lod	939 16-25	16	400	-	\$2,754.00
	939 18-25	18	450	-	\$3,729.00
	939 20-25	20	500	-	\$4,662.00
	939 24-25	24	600	-	\$5,828.00

Pricing for Larger Diameter's available upon request.

P.O.R.

General Terms

GALAXY PLASTICS LTD AND BREN TECHNOLOGIES INC. TERMS & CONDITIONS OF SALE

These terms and conditions apply to Galaxy Plastics Ltd and/or Bren Technologies Inc. or any subsidiary companies, collectively known as the ("Vendor").

SCOPE, All purchase orders are accepted and all sales are subject to these terms and conditions. It is agreed that any terms or conditions contained in the Purchaser's order or otherwise stipulated will be for the internal use of the purchaser and not applicable or binding to the Vendor.

ACCEPTANCE/CANCELLATION OF ORDERS Purchase order are accepted upon satisfactory credit approval by the vendor. Orders cannot be cancelled without the vendors written consent. Furthermore, custom products manufactured to purchaser's specifications or project orders manufactured to the purchaser's volume requirements cannot be cancelled, modified or returned regardless of these items being a stocked or non-stocked item. Exceptions to this must be obtained in written consent from the vendor detailing specific terms and conditions for the acceptance to any cancellation, modification or return of said product.

SHIPMENTS All, deliver schedules stated in the quotation or order confirmation are approximate. The vendor is not responsible for any liability or damages to product during shipment or any shipment delays whether within or outside the vendors control. All shipments are F.O.B. the vendor's location and all loss, damage or delay during transit of goods purchased are at the risk of the purchaser. Receipt of goods should be examined carefully before acceptance from the carrier. Claims for shortages or wrong goods shipped must be made within 24 hours of the receipt of shipment. Failure to give such notice shall be deemed unqualified acceptance of the shipment and a waiver by the purchaser of any claim with respect to the shipment. Freight Prepaid orders will be shipped by the vendor's carrier of choice unless agreed upon in writing to use to purchaser's carrier of choice.

INSURANCE The purchaser agrees to keep the purchased products fully insured against loss, theft, destruction or damage including during transit with the carrier or in the carrier's yard, or occurring at any point after the purchaser, purchaser's carrier or any other representative takes possession of the product, said insurance shall be placed with insurance companies for the benefit of the seller and the proceeds of any such insurance, shall at the option of the seller, be applied to the payment due for the products.

TITLE TO PRODUCTS The purchaser acknowledges and agrees that until the payment of the amount shown on the vendor's invoice is received the vendor title to the products shall remain with the vendor until full payment is received by the vendor. Until such payment is received in full the vendor shall have the right without notice to enter the premises where the goods are located and take possession of the product in the event the purchaser's payment obligation for those products to the vendor has become past due. The purchaser agrees to defend, indemnify and save the vendor harmless from any all costs, expenses and damages including legal fee's arsing out of any claim asserted against the vendor as a consequence to vendor exercising such right.

PRICES All published prices are subject to change without notice until orders are accepted by issuance of an order confirmation. Confirmed prices will remain if effect for product shipped within a 30-day period or an extended period agreed upon under written acceptance by the vendor. All orders are deemed ready to ship in whole or in part by the vendor unless written confirmation is given to the purchaser with specific ship dates. All shipments are invoiced immediately. Prices do not include any sales taxes. The purchaser must provide the vendor with any tax exception certificates as required by the specific tax jurisdiction, in order not to be charged for any of the applicable taxes.

TERMS OF PAYMENTS Payment terms are stated on the vendors invoice to the purchaser. In any instance where no payment terms are shown payments are then due within 30 days. Overdue invoices are subject to finance charge of 2% per month (24% annual on past due invoices). The granting of credit by the vendor is at all times based on its evaluation of the purchaser's financial condition. If such financial condition does not justify continuance of shipment on credit, then the vendor may require full or partial payment in advance.

DEFAULT If the purchaser defaults in paying by the specified due date for any invoice issued by the vendor, or if a proceeding bankruptcy, receivership or insolvency shall be instituted or filed by or against the purchaser as a debtor, bankrupt, defendant or insolvent or if the purchaser shall enter into any arrangement or agreement with its creditors, the full amount of the purchase price then remaining unpaid shall, at the option of the vendor be immediately due and payable, anything to the contrary in any other document or agreement not withstanding, it being expressly agreed that the title in the goods shall vest with the purchaser only on the payment of the full purchase price and on the compliance by the purchaser with the purchasers obligation under these terms and conditions.

RETURN OF PRODUCTS Unless the purchaser has obtained prior consent to the return of products, the vendor will not be required to accept returned products from the purchaser. The Vendor may accept the return of products under the following conditions. The purchaser has obtained a Return Material Authorization (RMA) number from the vendor. Products must be recurred freight prepaid to the vendor. Products must be received in a good saleable condition and if possible in original packaging. A minimum return charge of 25% of the purchase price will be applied to any credit issued pursuant to the return of products, except in the case of vendor shipping error. All products are subject to inspection where further re-work charges will apply if deemed to be necessary. If the returned goods are not eligible for resale as new, the products will be rejected for eligible credit being issued. The vendor will advise the purchaser accordingly on any changes beyond the standard 25% restocking fee. Products deemed to be: (1) custom made, (2) for pressure applications, (3) obsolete, (4) excessive quantities or (5) a specialty product cannot be returned.

CHANGES TO PRODUCTS The vendor reserves the right to make changes, modifications or improvements to its products without assuming any further obligation.

PATENT RIGHTS If any claim is made against the purchaser based on the allegation that any of its products sold by the vendor constitutes infringement of any U.S. or Canadian Patent, the purchaser shall notify the vendor immediately. The Vendor shall have the right, at its own option and expenses, to take any actions to protect and defend it rights.

FORCE MAJEURE The vendor shall in no event be responsible or liable for any non-performance, loss or damage or any kind or nature whatsoever, direct or indirect, suffered by the purchaser, subsequent purchasers, ultimate users of the goods, or any person, as a result of any factors beyond the reasonable control of the vendor including (without limitation) Purchaser's acts or omissions, labour shortage, price alterations, strikes, lock outs, work slow downs, delay in shipments, accidents, fire, flood, earthquakes, severe weather, civil commotion, riots, war, terrorism, breakdowns, delays in manufacturing, transportation or delivery of products, shortage of materials or supplies, governmental or regulatory or licencing actions or charges, or any other circumstance beyond the Vendor's reasonable control.

CONDITIONS OF RESALE/SUBSEQUENT PURCHASERS These terms and conditions shall be binding upon all subsequent owners and users of the products. Products are sold subject to the condition that they shall not be resold or otherwise conveyed without similar conditions, including that these conditions be imposed upon on the subsequent purchaser/ user or transferee.

GOVERNING LAW This agreement and all rights and obligations hereunder shall be governed by the laws of the province in which the Vendors Head office is located and all actions commenced pursuant hereto shall be brought in a court of competent jurisdiction residing in that province where the Vendor's Head office is located.

Continued on next page.

General Terms

WARRANTY AND LIMITATION OF LIABILTY

Vendor's products are guaranteed against defects resulting from faulty workmanship or materials, subject to the limitations, exceptions, disclaimers and conditions stipulated hereunder or specified with respect to particular products and posted, updated or amended on the Vendor's website or stipulated in the product literature.

Vendor's entire liability (and purchaser's entire remedy) on any claim arising out of the sale of the products or it's replacement of defective goods, shall be limited to the purchase price of the products that are proven to be defective and the costs of transport. This warranty does not extend to, and is voided by, any modification or altering of the product, have not been used in more than one installation, abnormal operating conditions, misalignment of product, UV degradation, incompatible lubricants, unusual pressure surges or pulsation, water hammer, temperature shocking or fouling, or because of misuse, abuse, accident or damage in transit, improper handling or installation not in accordance with recommended practices or codes, acts of nature such as earthquakes, fire, flood or lighting or any other event of force majeure.

If the products sold to purchaser fail to conform to this limited warranty, purchaser must give the vendor written notice of such non-conformance, within 30 days of the time when the defect was or should have been discovered, but not later than one year after the receipt of the products in any event, or the purchaser waives any warranty claim or any other claim with respect to the products.

Purchaser agrees that neither vendor nor vendors officers, directors, managers, employees, agents, distributor or representatives shall under any circumstances be liable (a) for any other damages, direct, incidental, special, indirect or consequential, whether resulting for vendors negligence or otherwise, resulting from or in connection with products sold to purchaser, nor (b) for any claims, actions, suits and proceedings which may be instituted in respect to the foregoing, including claims, actions, suits and proceedings made by subsequent owners and users of the products, nor for strict liability or other tort, nor (c) for lost revenues or earnings, lost profits, lost opportunities, cost or delays, lost good will or reputation, or punitive or exemplary damages, if it is found that this remedy fails of its essential purpose, sellers liability shall nonetheless be limited to a refund of the purchase price of the product, and transportation costs. The exclusion of consequential damages shall be deemed independent of, and shall survive any failure of the essential purpose of any limited remedy.

Vendor shall have the right to modify at any time the design of the products or materials used therein without any liability, except to the extend that any such modifications would breach any specifications, standards or design requirements that have been agreed upon in writing between the vendor and the purchaser.

The vendor disclaims any liability or responsibility for (a) labour, materials and/or other expenses required to replace the defective product or to repair any damage resulting from the use thereof (b) for the purchasers calculations, product drawings or engineering design specifications (c) regarding the accuracy of any plans, drawings or specifications furnished to the purchaser as part of the sale of any of the vendors products (d) for loss or damage resulting from failure to abide by the manufacturer's warnings, safety instructions or other precautionary guidelines.

Vendor makes no warranty other than the limited warranty given above. Which is the sole and exclusive warranty given by the vendor. This limited warranty and remedy is expressly in lieu of any and all other express or implied warranties, including statutory warranties, and excludes any implied warranty of merchantability of fitness for a particular purpose. Purchaser's purchase of the product is irrevocable and purchaser has decided that the standard of the product is fit for the purchaser's purpose.

Locations

Galaxy Plastics Ltd. (West) Bren Technologies Inc.

9-30321 Fraser Hwy, Abbotsford, BC V4X 1T3

T: 604-857-9660 - T/F:1-877-808-1088 F: 604-857-9674 - T/F: 1-877-808-1288

E: sales-bc@galaxyplastics.com

Galaxy Plastics Ltd. (East) Bren Technologies Inc.

231 King Street, Barrie, ON L4N 6B5

T: 905-951-7662 - T/F:1-888-431-0511

F: 905-951-2215

E: sales-on@galaxyplastics.com



